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/*

HELLO.C

Copyright 1995-1999 Keil Software, Inc.

*/

#include <REG52.H> /* special function register declarations ~ */
/* for the intended 8051 derivative */

#include <stdio.h>

#include <math.h> /* prototype declarations for 1/0 functions */

#ifdef MONITOR51 /* Debugging with Monitor-51 needs ~ */

char code reserve [3] _at_ 0x23; /* space for serial interrupt if */

#endif

unsigned char i,1=0,k,P_1,k1=0,j=0,h=0;

char d=0,s=0,t=0;

intrl,r2,r3;

unsigned char  d1,s1,d2,s2,d3,s3;

char con=6;

int num=0;

char n1=0,n2=0,n3=0;

int sum=0;sum1=0,sum2=0;

unsigned char  A[10];

int c1;

char c;

int dsum1=0,dsum=0;

char symbol=6; /* is enabled

void count(void) ;

void countO(void) ;

void countl(void) ;

void count2(void) ;

void count3(void) ;

void count4(void) ; [* Stop Exection with Serial Intr. ~ */

[*void delay(int x) {

intij;

for(i=0;i<x;i++)

for(j=0;j<120;j++);

3 /* is enabled */

/*

The main C function. Program execution starts



here after stack initialization.

void main (void) {

PR~

% TE #B%1[1£(19200 BAUD 11.0592MHZ)
#ifndef MONITOR51 1155 52 %1#2(57600 BAUD 11.0592MHZ)
SCON = 0x50; /* SCON: mode 1, 8-bit UART, enable rcvr */
TMOD |= 0x20; /* TMOD: timer 1, mode 2, 8-bit reload */
TH1 = 0xfd; /*TH1: reload value for 9600 baud @ 11.0592MHZ  */
PCON |= 0x80; /* SMOD=1: Double the baud rate to 19200 @ 11.0592MHZ */
TR1 =1; /*TR1: timer 1run */
TI =1, [*TIl:  set Tl to send first char of UART */
#endif

Note that an embedded program never exits (because

there is no operating system to return to). It

must loop and execute forever.

d1=d2=d3=0x7e;

r1=r2=r3=0xC0;

s1=52=s3=0x7e;

A[1]=0x7d;

A[2]=0xbd;

A[3]=0xdd;

A[4]=0x7b;

A[5]=0xbb;

A[6]=0xdb;

A[7]=0x77;

A[8]=0xb7;

A[9]=0xd7;

A[0]=0x7e;

while (1) {

count2();

count0();

suml=n1+n2*10+n3*100;

sum=sumi;

if(P_1==0xeb||P_1==0xbe||P_1==0xde||P_1==0xee||P_1==0xed||P_1==0xe7) /IDABEF

{

if(sum1==0){
h=1,

}

count3();

count4();

sum2=sum;



if(r1!=0x06)
{
cl=sum;
if(c1>999)
{
=L
while(j==1){
P0=0x06;
P2=175;
for(i=0;i<200;i++);
P0=0x05;
P2=175;
for(i=0;i<200;i++);
P0=0x03;
P2=249;

for(i=0;i<200;i++);

}
}
if(c1>=0 && ¢1<1000)
{
for(i=0;i<3;i++)
{
€=c1%10;
P_1=A[c];
count();
if(i==0) r1=p2;
else if(i==1) r2=P2;
else if(i==2) r3=P2;
cl=(cl-c)/10;
}
}
else if(c1<0)
{
cl=cl*-1;

for(i=0;i<2;i++)
{
r3=0x3f;
c=c1%10;

P_1=A[c];



count();
if(i==0) ri=p2;
else if(i==1) r2=P2;

cl=(c1-c)/10;

} } 133
void count(void)
{
if(P_1==A[0]) {
P2=0xC0;
num=0; }

else if(P_1==A[1]) {
P2=0xF9;

num=1; }
elseif(P_1==A[2]) {
P2=0xA4;

num=2; }

else if(P_1==A[3]) {
P2=0xBO0;

num=3; }

else if(P_1==A[4]) {
P2=0x99;

num=4; }

else if(P_1==A[5]) {
P2=0x92;

num=5; }

else if(P_1==A[6]) {
P2=0x82;

num=6; }

else if(P_1==A[7]) {
P2=0xF8,;

num=7; }

else if(P_1==A[8]) {
P2=0x80;

num=8; }

else if(P_1==A[9]) {
P2=0x90;

num=9; 1

void countO(void) /ldisplay



if(d==0) {
P0=0x06;
P2=r1,
for(i=0;i<200;i++);
P0=0x05;
P2=r2;
for(i=0;i<200;i++);
P0=0x03;
P2=r3;
for(i=0;i<200;i++);
count2(); }
if(d>=1) {
$3=s2;
s2=s1,;
d=0;
d3=s3;
d2=s2;
di=P_1;//
sl=d1,
P0=0x06;
count();
nl=num;
r1=pP2;
for(i=0;i<200;i++);
P_1=d2;
P0=0x05;
count();
n2=num;
r2=pP2;
for(i=0;i<200;i++);
P_1=d3;
P0=0x03;
count();
n3=num;
r3=P2;
for(i=0;i<200;i++);
P_1=d1;

count2(); 3}



void count1(void)
{
for(i=0;i<4;i++) {
if(i==0) k=0xfe;
else if(i==1) k=0xfd;
else if(i==2) k=0xfb;

else if(i==3) k=0xf7;

P1=k;

if(k!1=P1) //being push {
P_1=P1;
break;

} 1

void count2(void) {
P1=0xf0;
if((P1&0xf0)!=0xf0) {
countl();
if(P_1==A[0]||P_1==A[1]||P_1==A[2]||IP_1==A[3]|IP_1==A[4]||P_1==A[5]|IP_1==A[6]||P_1==A[7]||P_1==A[8]|P_1==
A[9]) d++;
I if(P_1==0xe7)// {
* S++;
s1=s2;
$2=83;
$3=0x7e;
if(s==2) {s2=0x7e;} /del
if(s==3) {s1=0x7e;}
d1=d2;
d2=d3;
d3=0x7e;
if(s==2) {d2=0x7e; }

if(s==3) {d1=0x7e;s=0;}

1 rl=r2;

1 r2=r3;

1 r3=0xc0; */
I d=0;
1 nl=n2;

1 n2=n3;

1 n3=0;

1 sum1=n1+n2*10+n3*100;

noy



while(k!=P1) {

P1=P_1; /Istill  pushing
/*if(P1!=P_1) {

d=0; }
if(P1==P_1) {

1=0xf0;

P1=I;

if(P1==0xc0 || P1==0xa0 || P1==0x90 ||P1==0x50 || P1==0x30) d=0;

1=0xf0; "
P1=l;
if(P1==l) break;
P1=0xf0;

1 while(P1==0xf0) ;
P0=0x06;
P2=r1;
for(i=0;i<200;i++);
P0=0x05;
P2=r2;
for(i=0;i<200;i++);
P0=0x03;
P2=r3;
for(i=0;i<200;i++);

} 1}
void count3(void) {  intwi;

if(P_1==0xee && symbol==4) /IP_1
if(con==0) symbol=0; IIF
else if(con==1) symbol=1,;
else if(con==2) symbol=2;
else if(con==3) symbol=3;
else if(con==4){
symbol=4;
d=5; }
sum2=dsum;
suml=dsuml; }

else if(P_1!=0Oxee && symbol==4) {
sum=dsum; }

if(symbol==0) {
con=0;

sum=sumz2+sumil;

3



dsuml=suml,;
dsum=sum; }
else if(symbol==1) {
con=1,
sum=sumz2-sumi,;
dsuml=sumi,;
dsum=sum; }
else if(symbol==2) {
if(d==0 && sum1==0) suml=1,;
sum=sumz2*sumi;
con=2; }
else if(symbol==3) {
if(d==0 && sum1==0){
suml=1;} /lsum=sgrt(suml);
sum=sum2/sum1;
if(h==1) {
=1
while(j==1) {
P0=0x06;
P2=175;
for(i=0;i<200;i++);
P0=0x05;
P2=175;
for(i=0;i<200;i++);
P0=0x03;
p2=249;
for(i=0;i<200;i++); } }
con=3;
dsum=sum;
dsuml=sumil; }
else if(symbol==5)
{if(d==0 && sum1==0) suml=1,;
w=sumi;
if(w!=0){
sum=sumz;
for (i=0;i<(w-1);i++){
sum=sum*sumz;
1

else if(w==0){



sum=1; }
con=4; } }

void count4(void)

{ if(P_1==0xbe) symbol=0; A +
else if(P_1==0xde) symbol=1; /B -
else if(P_1==0xed) symbol=2; IIF =
else if(P_1==0xeb) symbol=3; /ID/

else if(P_1==0xee) symbol=4 ;
else if(P_1==0xe7) symbol=5;
n1=n2=n3=d=0;

d1=d2=d3=s1=52=s3=0x7e; //
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